F, -85 N at 33°
F, =57 N at 120°

/

Oct 7-/:56 AM

Oct 7-8:11 AM



Oct 7-8:1/ AM

A boat traveling at 3.5 m/s heads across stream.
Where does the boat end up if the current is at 2.3
m/s?
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A ball is kicked at 35 m/s at an angle of 25°
with the horizontal.What are the horizontal and
vertical components of the velocity?
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A plane (billy the plane, that istravel at 455
km/hr at 245'. Where should it fi€ad if it encounters a

wind of 125 km/hr blowing from the South?
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a) A plane heads due east (180 °) at 425 km/hr. Where does the plane
end up if it encounters a wind blowing at 75 km/hr from the southeast
(135 °)?....b) Where should the plane head if it wants to end up going
due east?
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